) 4

Part Description

Printed parts

Neutron Base .stl

Neutron Top .stl

Neutron Cart .stl

Neutron Rod .stl

Neutron Effector Cover .stl
Neutron Effector .stl

Neutron Plunger - Base and Arm
Neutron Motor Holder

Extruder

Mechanical parts

ATOM 2.5 MK3 with 0.4mm Nozzle (for 2.5)
Upper Hotend Windshield

Extruder Spring v2 (8.5 x 1.1 x 11R x 32L)

(N NeuTrRON

[RH

FIEN4 — Neutron JEEE

FIEN4 — Neutron TEER

FIEN# — Neutron ;&%

FIEN# — Neutron 42

FIEN# — Neutron BEIF& LE
FIEN# — Neutron BEIFE
FIEN# — Neutron X FEH
FIEN# — Neutron BiEZE

ATOM MK3 I§88 0.4mm OE (2.58 )
ERERA
PEHEE v2 (85x 1.1 x 11R x 32L)

Extruder Drive Gear v2 (SUS) with M3-3 Headless Hex {#¥# v2 (R348, & LL{T82%k M3-3 [NYLOK])

Stepper Motor 42HS48

Hotend Endstop Spring (3 x 0.7 x 9R x 12L)
Extruder Side Pneumatic Connector 4-1/8PT
Bearings 608ZZ (8 x 22 x 7mm)

Bearings MR105Z2Z

Coupler D20L25

Screw Shaft $8, 450mm (lead of the twist 14)
Shaft $12 x ¢7, 470mm

Bearings LM12UU

®10 mm, M4 Threaded 8mm ball end
magnet ( $10 x 4mm)

Electronics

2510 Back Fan (685mm Green Orange 28AWG)
Head Endstop (940mm Black 28AWG)

XYZ Endstop (1200mm Black 28AWG)

Power Switch (300mm Black Wire 18AWG)

DC Connector (300mm Red Black 18AWG)

DC Adaptor + IEC Cable

Quick Wire Connector 3PIN

Wire 200mm Black 22AWG

Wire 200mm Red 22AWG

SD Card

2004LCD+MEGA2560+R3 RAMPS1.4 + A4988x5

Screws, nuts and washers
M2-8 Hex Screw [NYLOK]
M3-10 Hex Screw

M3-15 Hex Screw

M3-20 Hex Screw

M3-25 Hex Screw

M3-40 Hex Screw

M5-8 Hex Screw

M4-12 Headless Hex

M3 Nut

M3 Washer

M8-10 Cored Screw

Others

PTFE Tube (2 x 4 x 950mm, Single)
Cable Tube (1000 mm)

Glass Print Bed ¢ 220mm

S HIE 42HS48

TETERR A BARAEEE (3 x 0.7 x 9R x 12L)
P i RE IR 4-1/8PT

#i7K 608ZZ (8 x 22 x 7mm)

& MR1052Z

E#h8% D20L25

TEIURZ 08, 450 mm (CEFE14, E1RFF)
S ®12mm, P,y d7mm, 470mm (B FM8 20mm)
8K LM12UU (912 x $21 x 30mm)
10 mm, MAK 5F8mm BkEE

K800 B AHLEH (910 x 4mm)

2510 %A (685mm #ki% 28AWG)
TEEEMMENRARA (940mm K 28AWG)
3ERMENBARA (1200mm K 28AWG)
EIRBIR (300mm B 18AWG)
KEFDCHHFREE (300mm #L 2 18AWG)
DC #E3 + IEC iRz

HRIEREE 3PIN

EIFH (200mm B 22AWG)

IR (200mm L 22AWG)

SD+

2004LCD+MEGA2560+R3 RAMPS1.412 i 4k +A4988EE &) & x5

P IRH% M2-8 [NYLOK]
P IRA M3-10
P IR M3-15
P iR H M3-20

PN HIRAE M3-25
MBI M3-40
PIA iR M5-8

AE 925k M4-12

M3 118

M3 B
SHARAZEDIRZMS-10

SFREEE (2 x 4 x 950mm, BEE)
£4RE (1000 mm)
WHFEE ¢ 220mm

Qty

A a A a0 W W w

W W W WS WA AN A

N o
&N

NN N G N RSN N

Latest Update:2017/03/08
Example Source

https://world.taobao.com/item/40903030936.htm?spm=a312a.7700714.0.

https://world.taobao.com/item/38906567928.htm?spm=a312a.7929964.0.
https://world.tmall.com/item/43255476847.htm?spm=a312a.7700714.0.0.
https://world.tacbao.com/item/41888519507.htm?spm=a312a.7700714.0.
https://item.taobao.com/item.htm?spm=a312a.7700846.0.0.Kx3ety&id=3¢

https://item.taobao.com/item.htm?spm=a312a.7700846.0.0.Kx3ety&id=42
https://item.taobao.com/item.htm?spm=a312a.7700846.0.0.CfixYwA&id=E
https://item.tacbao.com/item.htm?spm=a312a.7700846.0.0.CfxYwA&id=E

https://world.taobao.com/item/44385041914.htm?fromSite=main&spm=:

https://item.tacbao.com/item.htm?spm=a312a.7700846.0.0.H4EnIW&id=£



https://world.taobao.com/item/40903030936.htm?spm=a312a.7700714.0.0.93TIzb#detail
https://world.taobao.com/item/38906567928.htm?spm=a312a.7929964.0.0.jcAqub#detail
https://world.tmall.com/item/43255476847.htm?spm=a312a.7700714.0.0.8CkSE0&sku_properties=122276018:20213
https://world.taobao.com/item/41888519507.htm?spm=a312a.7700714.0.0.5vIBRw#detail
https://item.taobao.com/item.htm?spm=a312a.7700846.0.0.Kx3ety&id=38101656826&_u=610av7ti6dbf
https://item.taobao.com/item.htm?spm=a312a.7700846.0.0.Kx3ety&id=43786792006&_u=610av7tiab4d
https://item.taobao.com/item.htm?spm=a312a.7700846.0.0.CfxYwA&id=527760558005&_u=510av7tid3b6
https://item.taobao.com/item.htm?spm=a312a.7700846.0.0.CfxYwA&id=520905856917&_u=510av7ti3a56
https://item.taobao.com/item.htm?spm=a312a.7700846.0.0.H4EnlW&id=534554390697&_u=510av7ti3372
https://item.taobao.com/item.htm?spm=a312a.7700846.0.0.Kx3ety&id=538377273104&_u=610av7tia223

